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QUESTION 1

Which of the following statements is true? Select the correct answer. 

A. A service enters the service provider role when it initiates contact with other services, including those that act as
intermediaries. 

B. A service enters the service provider role when it initiates contact with intermediaries only. 

C. A service enters the service provider role when it is accessed by other service consumers, including intermediaries. 

D. A service enters the service provider role when it is accessed by intermediaries only. 

Correct Answer: C 

 

QUESTION 2

A SOAP message is an XML document that is comprised of a set of pre-defined parts. Which of the following are parts
that can be found in a SOAP message? SELECT ALL THAT APPLY 

A. Envelope 

B. Body 

C. Header 

D. Footer 

Correct Answer: ABC 

 

QUESTION 3

I would like to add two different WS-Policy definitions to my SOAP-based Web service and I would like to give the
service consumer the choice to comply to either policy. How can I do this? Select the correct answer. 

A. Create a separate XML schema for each policy and attach both XML schemas to the service\\'s WSDL definition. 

B. Create the two separate policies and group them in a policy alternative that is then associated with the service\\'s
WSDL definition. 

C. Communicate each policy through a separate WS-Addressing SOAP header and let the service consumer choose
which header to use. 

D. You cannot do this. 

Correct Answer: B 

 

QUESTION 4
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Which of the following statements is true? Select the correct answer. 

A. XML documents can be exchanged by REST services. 

B. XML documents can be exchanged by SOAP-based Web services. 

C. XML documents can be exchanged by component-based services. 

D. All of these statements are true. 

Correct Answer: D 

 

QUESTION 5

It is possible to have 3 SOAP-based Web services, each with a WSDL definition that has an operation named Update.
Select the correct answer. 

A. True 

B. False 

Correct Answer: A 
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